JEOR 105 Mdiem 1 (Lim, Spring 2012)

Avernge sd rTob6
AN Coma Qoo 40
Ia (o 5
@,(c) Y=I0 ; X* Tncoms
BV ps b, X

S S w4

b= rs * 05%4g00 ~|eo0
bt Y-bX = §5

Py {

Js 85+ gono (12000 = [105]

(v) N Tnesme X~ I@
Y000
},'-r-% - ‘I:‘. 15 * 9%

-

be* Y-bX = (0000
§ « -6+ 150 (1to) » [ 105005 |

2. (G) pesther Corrclatoa, lineardy astociohed —» ok fo uw @ [lingor moced

) g few ocutiers on 4m plott, Can’t remowe outiien direcHy
(&) «*ep byev- 5
=) re0.6%4d)p , positae, weakly Cocrelated
[d) R** 0uGET Thee ax 4%.P1% of vanability in Motk Score +hot con be
exploined . 4he model.
(e) Math SCore ® 209.554177 + 0.071D7 = Vorbad dcore
o eveny increan i e VObOL e, We o expect o tee OWTRT jncrvow in tha Math core
(£) Verbat = o
Mok [Verkoi sy = G49. 3447
() sd of Maw score for Vebal = (2,700
i be+ by X +E;
9+ elNvIx] Y[X= contban + &
Vor (YIX) *Vor (€;) = sd(YIX)» sa/€;)
from cutput = TTS o Nt Y

(N Y[X2e® ~ N(GHE. 97, T11.15)
q b XT3 T

~ x
Pr (Y% 770)= ﬂ'( .15 1% ) 2 023577



3  ses ’..lzpm, 543 'Dzn,rm

3 10w . ©.0157S

(o) % ¢c1+ 5t 196 (0-257s)
* (05121, 0.573%)
Assumphsr of CLT:
® ses
@ 1000 << i of poputodisa
@ g2 | alt-p)T n(i-p)20
4. G save pon  (x;,4,), (x;,tuga-,),(x;,g)
(@  (%,4i) = matnaconty
(%, 94i) = Vononcs Increoses o x incoses

l@ 31 = 0432 + 01227 x

093r0. 12T x
. B
o 0.932+ 0. n2WU{19)
B Yxwo* e * .667
&) Pr (o 715) logy = 0-932+ 0123776
» P (109 Vix-e > (515 e ® €[N Lxuel » 3667
(E‘f&:qu ‘21“"-“7 S i B
'h‘( o G2 k4 T“‘-l) SE (gm.u} s 0.0GR2

v Pr(Z 70.3207) « 0.204 oy yi ~ N(2.667 0.u622)



